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The main component of telescope,
microscope and eye is !

(A) Concave miror

() Convex miror

(C) Convex and Concave lense

(D) Simple glass

The formula for moment of incrtia (D 1s
(A) 1 =mg

(B)I-Z:ma«2

© 1= m?
M) 1= mr

The unit of Eleqtnc pnﬁenha‘l is
(A) Volt

(B) Amp.

(©) Coulomb

(DY Joule

The expression for capacnance of
capacitor is’

® c- 88
-A-JA}' Th
C) C= o
1
JCrEn

formula for charge stored Vlipp and
citance as well as voltage applied
cen two clccgrodm of capacitor is

I §=
Ni-a<<|a
0
"
<
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14.

15.

16.

17

18.

Gauss’s law will give the association
between total electric flux and total stored
clectric charge,

(A) Correct

(B) Not correct

(C)* Both (A) and (B) are correct

(D) None of the above is incorrect

Capacitance value of capacitors is
increased in case of

(A) Parallel combination

(B) Series combination

(C) (A) and (B) both arc correct

(D) None of the above is incorrect

Any imaginary surface enclosing an clectric
charge is called

(A) Laplacian surface

(B) Gaussian surface

(C) Poisson’s surface of that charge

(D) None of these

Colour codes are used to compute for
obtaining

(A) Resistance

(B) Inductance

(C) Velocity

(D) None of the above

The exact expression of magnetic field due
to circular current loop is (air) of radius »
in which current flow is i amp. is

i
(A)H=g /
(B) B= bol :

(€) (A) and (B) both are correct
(D) None of the above is correct
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19. Which Theorem is concerned to voltage | 24. Thermisters can be used in all
source ? (A) Electric Iron i
(A) Norton theorem (B) Refrigerator
(B) Thevenin theorem (C) (A) and (B) both are correct
(€) Maximum Power transfer theorem (D) None of the above
(D) None of these
g 25. Piezo Electric effect can be used for
20. Biot-Savart law gives the relation between production of
magnetic field (B) and intensity due corrent (A) Low clectric signal
carrying wire at a point far away from (B) Low current signal
wire as (C) Low frequency of electrical signals
(A) B« i (D) None of the above
® B+
i 26.  Galvanometer is based on the principle of
(C) B« sinD : 3 g ;
(D) Al the above ( (A) mtcractlonb of ct.lrrem calrrymg
: conductor with applied magnetic field
21, ' elbervic bell gives 15 Vot At S (B) interaction c.nf cu.ue‘m carfying
_ ; ; conductor with applied uniform
current .20 amp, then electric power is ficld
(8) 6t (©) (A) and (B) both are correct
Ny (D) None of the above is incorrect
(C) 6 watt - :
(D) 3 watt _ -3
27. The gencral vector representatio
95, . Spesker Soverts. te fcrm}.llae for force (F) on Wi:mﬂ‘ (
(A) Mechanical energy into Electrical cmjg mzd“f.mr of Icngeh Bl
encrgy (A) F=a(BxV) "
(B) Electrical energy into soa::nd energy ®) f;:f(}. » 3) "
(C) Sound energy into electrical energy W S , .
(D) None of the above © F=i(Bx1) . |
(D) None of the above /
23. Transducer is used to . . : : '
(A) convert any physical quantity into | 28. Multimeter is employed for mearsqéﬂl
clectrical quantity of J f
(B) convert any geological quantity into (A) Resistance il
physical quantity (B) Voltage '
(C) (A) and (B) both are correct (C) Current
(D) None of the above (D) All the above J
—
.
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1.9'__ Which Theorem -

38. What is the full form or“r.:an g8
(A) Light Electrical Drum
(B) Light Emitting Diode
(C) (A) and (B) both

(l\] Voltage mgulatar
(B} Voltage corrector
(C) Rectifier
(D) None of the above

4#. P-N junction diode has propertics of
* (A) Unidircctional current device
(B) Multi-dircetional current device
~(C) (A) and (B) both are correct
(D) Naﬁﬂ.zﬁfmc m is incorrect

‘Transistor ﬂ Al

(A) Semiconductor devwe

(B) Electronic tube

(©) fﬁ) and (B) both ol Sxhmls |

4!&.

*

it @MM%WJHT'

1|t\ T

42, Lurrcnlgamaﬁn\cn AR =
(A) > 1
® <1 .
{C) ﬂ il i <

(D) None of the above

43.

w:il be : .
T el
(B) 2 mA '”ﬁ
(€) (A) and (B) both are correct
(D) Nonc of the above is correct

(A) Study of wave rmin .
(B) Eleetric current

(C) Voliage

(D) All the above W

|

47.

b rﬂr (&r‘-mﬁlﬂ!lﬁc em! 'll

MOS. su,nds o5 ® G
(A Metal Oxides Scmlonp@ucm;
(B) Metastable Oxides Serics
(C) (A) and (B) both

(D) None of the above

tical fibres arc used in
(A) Telecommunication
(B) Electrical power transmission
(D) None of the above

(A) Light Crystal Diode

(B) Light Computer My
(© (A) and (B) both

)\

1 @MM&

i } 'rj L

SMPS is mainly o

(A) Computers N
B) TV. .
(C) (A) and (B) both &
(D) None of the above

C’Ysmosciuﬂwmhaﬁm i

@**@&md mm R,
(D) (A) and (B) both are incorre

Lﬂmwa ; "'1'
%memm

(B) Opto Mechanical device
©) m)'M(B)bothm
(D)mafﬂlc above,
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